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lnstruction : Write answers in Engtish onty.

:"::"::11-VerYshortanSWertype.Eachquestioncarrieson"*i*,1. Thetimeconstantof C-Flcircuitis , . - --'-r''q
._ ___--_.+__+___J

2' For a cycric'proqess, the change in internaf energ3rcf the system is3 The st unitof mag*eticfiux'i*1 . .a a,,,.,, . ,, . r ,,, l

I ]t: 
marhsrnaricar expression rar rirsr ia* oi***uorn"*;rr;

5. During isochorjcprocess workdone =

SECTION-8
A---.

:"::::::r 
r:* * shorr answer rype. Each quesrion carriesrwo rnarks.6. Define lsochoric and fsobaric process.-r

7. State Biot - Savart Law.

: 
Dr'stinguish between reversible and ineversibre process. Give one exampre fgr each.9. A capacitor of capacitance 0.1.r, F is first chargedand,1,1"n d,r"ilffi;;
;?il1,*ff.:roj.t 

o *"sioh'. Fi[,i ,n" iiilll't?{3 potrntiar wirlial* to fail ro hair its

10' Define temperature co-efficient of resistance. write down its expression.11. Stateseccndlawof thermodynamics. - -:'
{Z*4=g}
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Answerany thrse- short esseylP'robf -sach'qt*s car*es*i ru ;,, 
,

-,'12' Find the efficiency of the Carnot's engine working &hffeen 12zqc and zr"c. I

13' Define current and voltage sensitivities d rnoving coit gqlvanolneter,

J4. What is the work done during adiabatb process ?
l'

15' Derive the expression forthe force on a crJffent-carrying conductor in a rnagneticfield. '

16' An inductance.offoo. mH and a resistance af s ohms are connected in serieswith an e.m.f. of 10 volts. Find the finat c*rrrent ri"*" il'r;it'rl*"1r*q and thetwo terminals are connected tqether, find the cunent after (i) 0.05 s (ii) o.2 s.

.

Kr?tt 1. 6

20. Discuss the growth and decay of curent in L-R circuit.

18. Give the statement d Camot,s theorem and provethem.
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